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1) The word ADDRESSEE is
a) a root word,
b) a compound;
¢) a derived word;
d) a derivational compound.

2) Find a noun built with the help of a suffix denoting a female being:
a) teacher;

b) cyclist;

c) Japanese;

d) farmerette.

3) Which of the nouns is built with the help of a productive suffix?
a) victory;

b) shortish;

C) passage;

d) freedom.

4) Synonyms are

a) words different in sound but mostly identical in denotational meaning;

b) words different in meaning but identical in sounding or spelling;

c¢) words belonging to the same part of speech and different in shades of polysemantic meanings;
d) words the meaning of which can be understood only in the context.
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